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_Question No : 41 of 52

Marks: 2 (Budgeted Time 4 Min) Bl

What 15 meant by "Left most Denvation” i context of CFG?

s~

Answer ( Please click here to Add Answer )
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|Question No : 42 of 52

Marks: 2 (Budgeted Time 4 Min) Bl

Explain the language L of string, defined over >’= {0,1}, hawng double 0's or double 1's7?

s~

Answer ( Please click here to Add Answer )
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_Question No : 43 of 52

Marks: 2 (Budgeted Time 4 Min) Bl

Consider the language defined by the following regular expression:
bia + b)ta

Ywhat will be the corresponding Context Free Grammar (CFG)?

s~

Answer ( Please click here to Add Answer )

ﬁ@é@ﬂ o Eﬁé@l‘_’ “|M|G’,r.fﬂ T ||§)|100%v||

II'-ln:nr‘m:aI LI I,&.r‘ial _“1 _] B 7 U H—:g = =

l I I
¥)
(]
it
L]

Lec:32,Page:91

YNade by: Y/aqar Siddhe



<

s~

Marks: 2 (Budgeted Time 4 Min)

|Question No : 44 of 52
Consider live productions to be applied duning denvation of a word. In your point of wiew what will be the ultinate result?

Answer ( Please click here to Add Answer )
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|Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) EII

o~

What 15 meant by the following statement ?

"LANGUAGE IS CLOSED"

AN 5 A VuAnswers.com

@ EaQ| 5 e o o[ #|E L@ [100%=]]
If'-lu:'rm:al L”.ﬂ.r‘i:al L“l_ ;] B 7 U ”_;_g

]

I
M
il
11
i
i

‘ YNade by: YWaqgar Siddhu




|Question No : 46 of 52 Marks: 3 (Budgeted Time 6 Min) Ql

s~

Write three different parsing techniques.

Arsis e L e 10 A A VuAnswers.com
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Marks: 3 (Budgeted Time 6 Min)

|Question No : 47 of 52
Mllustrate Decidable Problem with the help of an example.

Marks [1+2]

Answer ( Please click here to Add Answer )
|"'J “|M|@,r|fﬂ [ ﬂl

NwEala| s
x| | Avisl =]z

Lec:29,page80

II'-ln:nr‘m:aI

YNade by: Y/aqar Siddhe




_Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min) Ell

Consider the following MMoore machine: =

Al 1o 1 s 0 A VuAnswers.com
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|Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min) E]l

Consider the language L which is EVEN-EVEN, defined over I ={a b}. In how many classes does L may partition £*. Explain briefly.

=

Answer ( Please click here to Add Answer )
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|Question No : 50 of 52

Marks: 5 (Budgeted Time 10 Min) El

Consider the following TIV
(&aR) (b,b,R)

é (bhE) ><(_]> (a,aL)

&R)
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Answer ( Please click here to Add Answer )
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_Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min) El

-

Derve Chomsky Normal Form (CNF) corresponding to the Context Free Grammar (CFG) given below:
A—BAB|B| A
B—00| A
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_Question No : 52 of 52 Marks: 5 (Budgeted Time 10 Min) El

~

suppose a Maze of 20 boxes; 1 box for initial and 1 for final state. & boxes are for non-moweable states while the rest can be used for transitions. Draw a Nondeterministic Finte Automaton (NFA) for

the given Iaze.

Marks [2.5+2.5]
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Marks: 2 (Budgeted Time 4 Min)

|Question No : 41 of 52

Write alternative form of this production.

S—=ads,5—=>b3S, 5= A

Answer ( Please click here to Add Answer )
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|Question No : 42 of 52 Marks: 2 (Budgeted Time 4 Min) E,IJ

S

What are the uses of Push Down Automata (PDA) i computing?

Answer ( Please click here to Add Answer ) VuA_n:mps_cgm
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letters are referred again.

Itcan store as many letters as one can in a long column
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[Question No : 43 of 52

What 15 meant by Row language?

Marks: 2 (Budgeted Time 4 Min)

Answer ( Please click here to Add Answer )
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|Question No : 44 of 52 Marks: 2 (Budgeted Time 4 Min)  |=J|

ES

Write down regular expression for a language L of strings defined over 2 = {a, b} that netther ends in “a” nor with “b”.

Answer ( Please click here to Add Answer ) MHM
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[Question No : 45 of 52

Marks: 3 (Budgeted Time 6 Min)  |=Jj

What are the steps of Eecurstve Definttion of Languages?

ES

Answer ( Please click here to Add Answer )
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|Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min) EI]
What does the following arbitrary summmary table show? =
FROM TO READ POP PUGH ROW
Where Where What What What Number
READg | READ- b b abh 11 -
Answer ( Please click here to Add Answer )
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|Question No : 47 of 52 Marks: 3 (Budgeted Time 6 Min) EJ
Write down Context Free Grammar (CFQG) for the language of strings expressed by the following regular expression: -

(a+b)*a+b)*

Answer ( Please click here to Add Answer ) VuA_nsw-eps_ggm
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[Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min)  |=Jj

Let us consider the following Finte Automaton (FA):

b b
4

ES

Answer ( Please click here to Add Answer )

N Ea&a| o o | E ]G 9@ [0 =]

Lec:6,page:16

|I'-Ju:ut'rrn:al _"_“.ﬂ.r‘ial __l l1 _J B 5 U ”_:g = = ‘::

YNade by: Yy aqar Siddhu




|Question No : 49 of 52

Vyrite the CFG for EVEN-EVEN language?

Marks: 5 (Budgeted Time 10 Min)

Answer ( Please click here to Add Answer )
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[Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) Ell

Consider the following T 3'
(3,3R) (b,b,R) |

@ (h,R) 6 (3,81) ,(?
(ba,R) _‘I
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[Question No : 51 of 52

Marks: 5 (Budgeted Time 10 Min)  |=Jj

Using suttable examples, differentiate between Kleene star closure and plus operation?

o~

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)

|Question No : 52 of 52
a. Construct Context Free Grammar (CFG) for the language defined by the regular expression

(ab +ba)*a+b)*
b. Remove null productions from the CFG constructed in part 1.
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